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SO GD & BT HA NOI PE KIEM TRA GIUA HOC Ki I NAM HQC 2022-2023

-~ TRUONG THPT SOC SON MON TIENG ANH LOP 12

S6 thir tur D

1. Listen and decide whether the following statements are T (true) or F (false). Write the letter T or F in
the box. (1 point)

. Nelson Mandela went to schools which belonged to a church.

o

. He wanted 1o become a lawyer so that he could help his people with their struggle for equality. | F

3. The laws of the South African government made life easier for black people. F

. 4. Mandela protested laws that said that black and white people could not live in the same areas or go to the
same s¢hools. T
I1. Listen and fill each gap with ONE or TWO words taken from the listening passage. (1 point)

1. About 3 ...... % ol Earth’s landmass has been urbanized.

2. Today. people living in cities already outnumber those in . L1t ».L.(....@.W.(k-}..

3. The increase of urban population around the world leads to the massive construction of urban U’Zﬂifhk(. ﬁU”C‘,
4. There are also benefits of migration shared by the local environment and the S’OCLQ% ..... as a whole.
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I. Listen and decide whether the following statements are T (true) or F (false). Write the letter T or F in

the box. (1 point)

I. Nelson Mandela used to help his father. who was an assistant to an African chiel. T

2. In 1942, he started his political life by joining an organization called the ANC, T’

3. Mandela became the president of the ANC in 1952 and was an important leader of black South A fricans. =

4. Mandela was arrested, sentenced to life in prison and released from prison in 1964, F
1L Listen and fill each gap with ONE or TWO words taken from the listening passage. (1 point)
I. There has been an increase of at least ........ &7.......... % aver previous estimates in the rate of

urbanization,

-2, Cities have larger amounts of carbon Ca”S'Mm/?f(Dt\ than rural areas,
p

- 3. Urban households have a liéglwr .0e... of car ownership and use more gasoline products

4. When rural dwellers leave their homes, local forests are lefl to JEEQNEIT.
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SO GD & DT HA NOI
TRUONG THPT SOC SON

IB 2A 3C 4D 5C
J1IC 12A 13 14D ISB
2IB 22C 23A 24B 25C
3IB. 32B

| 2B 3A 4D 3B
[ID 12C 13D 14A 15D
21C 22D 23D 24B 25B
3I1A 32D

IA 2B 3D 4C 3B
lIC 12C 13B 14A 15D
21A 22B 23C 24A 25B
iIB 32A

IB 2B 3D 4A 5B

1B 12B 13D 14D 15D

21D 22B 23D 24A 25C
31C 32A

IC 2D 3B 4C 5B

11B 12B 13A 14B 15

21A 22B 23B 24C 25C
3IB 32A

IC 2C 3A 4A 5B
11B 12A 13 14A 15D
21C 22A 23B 24C 25A
31A 32A

IA- 2B 3D 4D 5C

1D 12A 13D 14B ISD
2IA 22D 23C 24D 25D

3IA 32B

B 28 3 4D S5A
A" 12A 13D 14 I15B
21A 22D 23D 24A 25A
3IB 32C
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PAP AN MA PE 121
6C 7A 8B 9C 10C
16C 17B 18D 19C 20B
26A 27D 28A 29D 30C

PAP AN MA DE 122
6D 7D 8A 9C 0B
16C 17A 18C 19A 20B
26D 27C 28A 29D 30A

DAP AN MA DI 123
6C 7 8D 9A 10C
16C 17B 18B 19B 20B
26D 27A 28B 29B 30B

DAP AN MA DI 124
6B 7C 8A 9C 10D
I6A 17A 18A 19 20B
26A 27D 28C 29B 30B

PAP AN MA PE 125
6A 7B 8A 9A 10A
6B 17A 18A 19B 20D
26D 27A 28D 29D 30B

DAP AN MA DE 126
6A 7A 8A 9D I10A
16B 17C 18C 19C 20D
26B 27D 28A 29A 30A

PAP AN MA DE 127
6A 7D 8A 9D 10C
16D 17A 18B 19 20C
26D 27A 28D 29A 30B

PAP AN MA DE 128 -
6B 7D 8D 9D 0B
6B 17C 18D 19B 20A
26C 27C 28C 29B 30B



